|z 43} +=

r+ 2 >4
A)z € (—5,—2) U (—1,00)

Solve for x,

B)z € (5,2) U(—1,00)
C)z € (5,2)

D)z € (—1,00)

lz+ 3|+ =

[a] We have 5 }1;
T+3+z| )
| ]—I}D
r+2 '
|z +3| — 2 _
—* > 0 Now two cases arise;
T+ 2 o N
Case !Whenz+3 >U e, z2>—-3.
|z + 3| — 2 T+ 3—2
= 0= 0
Then z12 Z+2 -
z+1 |
= >0={(z+1) >0 and £+ 2> D}

x4 2
or{z+1<landz+2 <0}
=4z >—landz > -2)or{r< —landzr < -2}
=z >—-lorz<-2=z¢e (100} o
or T € (—oo,—2)
=1 (—3,—2) U (-1, oc)fSincer = —3
Casel:Whenz+3 <Ujie, z < —3

|z + 3| —2 —z—3—2
T S T N
:—Eﬂ;l}ﬂil+ﬁ{ﬂ
T -+ 2 T+ 2

=(r+5<Vand +2>0)

or(z+5>0and z+2<0)

= (z<—5and > —2)

or (T > —5 and T < — 2] itis not possible.

= Te(—5% —2)

Combinina (1) ana (2), the required solution is x & (—5, —2) U (—1,00)
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